The ACA Debt Relief Matching Gift Challenge

The Board and Administration of Augustine Christian Academy was approached by a Tulsa based Foundation and challenged to raise \$650,000 to pay down our existing debt. If we are successful in raising this challenge amount, ACA will receive \$650,000 from the foundation as a matching gift!

We have a **target date** to reach this challenge by December, 2018. Though \$650,000 is a significant number, we believe this to be a completely achievable objective. When this challenge is successfully met and matched, Augustine Christian Academy will be free of debt and in a very strong position as we begin our third decade.

Meeting This Challenge A Guide to Giving

Leadership Gifts

# of Gifts Needed	Amount of Gift	Total of Gifts
1 Gift	\$97,500	\$97,500
1 Gift	\$65,000	\$65,000
3 Gifts	\$32,500	\$97,500
<u> 6 Gifts</u>	\$16,250	<u>\$97.500</u>
11 Leadership Gifts	Totalling	\$357,500

Major Gifts

# of Gifts Needed	Amount of Gift	Total of Gifts
12 Gifts	\$6,500	\$78,000
18 Gifts	\$3,250	\$58,500
<u>36 Gifts</u>	\$1,625	<u>\$58,500</u>
66 Major Gifts	Totalling	\$195,000

General Gifts

# of Gifts Needed	Amount of Gift	Total of Gifts
55 Gifts	\$750	\$41,250
70 Gifts	\$500	\$35,000
55 Gifts	\$250	\$13,750
<u>so Gifts</u>	\$150	\$7,500
230 General Gifts	Totalling	\$97,500
307 Gifts	Target Goal	\$650,000

How Can I Assist ACA With This Challenge

The ACA Board of Governors challenges each of us to commit to participate in this challenge through a *donation and to find at least one more donor for this cause. Your prayers and support are always welcome. We would also ask you to consider the following:

- 1. Who do you know who may be able to assist us in this challenge?
 - a. Consider introducing this challenge to family and friends who have witnessed the fruit of the work being done at Augustine Christian Academy.
 - b. Consider introducing this challenge to those within your circle of influence who would support Education, Classical Education, Christian, or Arts related causes.
 - c. Consider introducing this challenge to those you may know who have direct contact with organizations who traditionally support the above causes or may support an organization with an opportunity to be debt free.
- 2. Prayerfully consider where you may fall on the above Gifts Chart and stand with us in faith that this will be a successful campaign. A donation at any level would be greatly appreciated and will move us closer to our goal. Any donation may be spread over the year in quarterly or monthly gifts.
- 3. Please remember to check with your employer to see if they have a matching program associated with employee gifts. This can greatly increase the value of your donation and the donations of those within your circle of influence who may choose to give to this challenge.

What Will Happen To The Donations Raised?

All funds will be placed in a secured account for this debt reduction matching challenge and will not be used for operational expenses. We will post totals raised on this page to keep all parties informed.

How Do I Give?

Please mail all checks to the following address:

Augustine Christian Academy

6310 E 30th St

Tulsa, OK 74114

Memo: Matching Challenge

To give with a credit card, you may also use our donor web page located at http://www.acatulsa.org/contact/Invest-aca or visit our web page and click on the Support banner or Support ACA tab (please note that we will incur a processing fee for all credit card donations).

*St. Augustine Academy, Inc. (dba *Augustine Christian Academy*) is an exempt organization as described in Section 501(c)3 of the Internal Revenue Code.